22-Jun-2004 03:56 PM

F:\StanDraw\Draft\V8\st61728.dgn [Metric]

STATE PROJECT

SHEET

NUMBER|
Steel spacer tube
300 See Standard M617-29. 150 x 200 x 360 long
Tube flush routed wood blockout
; Double nested
SQA 100“A 100“A50 W/ barrier 180 x 100 block. pOStS 3thru 5
N Concrete barrier Concrete barrier P i_‘ o OocK. Two nested W beam
\ ee Labic on rail elements K NOTE:
‘ \ \ Standard M617-29 .
o ‘ ‘ for thickness. 1 1. Posts 1 through 5 require an additional hole
N (L)— ‘ ‘ 28 dia. holes (typ.) Posts 1 thru 4. x B\ A\ to attach lower wood blocks and/or rubrail.
S | ‘ ‘ / I K : I Single bent plate rail 2. Offset drill wood blocks for rubrail to sit
SR o - @,j | element for rubrail 2 squarely on the post flange on posts 1
o ‘ | | f post 1 thru post 4 " through 4. Secure blocks to posts 2 and 4.
S | ! Secure rubrail and blocks to post flange on
®- © l.‘..’ ’ ‘ © posts 1, 3, and 5 using M16 carriage bolts.
S ‘ S| » e S 1:10 or
N N . N flatter / 3. Do not bolt W beamn to posts and blocks at
K o . ] I I e posts 2 and 4.
o - R ! it ! ) i .,
\ : a R i ! i ! 4. Reinforced concrete wall or bridge parapet
16 thick steel plate N TN ! \ W150 x 13 must be capable of developing a 265 kN pull
IV . I ! ! X 13 x out strength.
N W200 x 19 x 2290 post. ——\"" 1830 post. g
N Post 1 and 2 N7 Posts 3 thru 9 5., Furnish hardware in the metric sizes shown.
BEARING PLATE z‘;% :I{gcl\lggl:llt; ._Szes' / Equivalent U.S. Customary sizes may be used
. ' ! ' ! when metric sizes are not available.
I ! o 6. Dimensions without units are millimeters.
M22 x 350 H.S. hex bolts with SECTION A-A SECTION B-B SECTION C-C SECTION D-D
bearing plate or an approved
Concrete insert anchor assembly.
Two nested W beam rail elements L Single W beam rail element o
445 Guardrail blocks not shown for clarity ‘
. 300 475 475 475 = 475 950 L 950 L 950 L 950 __ Standard post
‘ ‘ section
A B C Bent plate rubrail D
|—> See Standard M617-29. > W150 x 13
[

» Steel spacer tube » » »
A See Standard M617-29. B C PLAN D
Pay Limits Connection to Structure __ Pay Limits Guardrail
576 1429 145 System G4
2100
. Z-
Terminal 2 M16 x 255 button head bolt and recess nut Back- Jate
connector mf‘ 0 with a rectangular plate washer under the up p
N T AT P S S . I S N bolt head and a steel washer under the nut.
M le < - — T — — — oy o o N ~ o — e
e ge = o ———jor — — — b ——= —tor —— =
ie) — —— — — — — S TR—— ——— ——— ——— ETR——
§8TA »; == ; §> - B?;A » AA 5» Ai A: : A‘ A‘»T I :\ \: :\ \: :\ \: :\ \: 0:\ \:0 ! ! L‘_‘J‘ ! ! L‘_‘J‘ ! 100 b ! L‘_‘J‘ ! OL\—\J\O\
R s : 5 s lo | | | e} | | | | | | | | | curi
‘_“’A;A;.‘; L alpe] g 1T\go‘°; P 9 . P F\{;\ ] /G.Im/ong
SR VAR SRR | R AP ST B S I N ] T f T
1 Lo - - - Lo - - Lo SN
Reinforced concrete 39 - Lo Lo Lo - Lo Lo - N
Wall or bridge parapet 1245 LN L LN : : LN LN L LN L LN LN L : 9 i
C150 x 12.2 rubrail N Bent plate rubrail M16 carriage bolt with Edge of pavement or ground line b
M16 x 150 expansion Wood blockout See See Standard M617-29. See Standard M617-29. nut & washer (typ.) at face of rail as applicable. e DA Or TNerORTTon
anchor bolt (typ.) Standard M617-29 A R R N A AN N A FEDERAL HIGHWAY ADMINISTRATION
Attached to rubrail b b b b b b Lo Lo FEDERAL LANDS HIGHWAY
with M10 x 75 bolt 1 2 3 4 6 7 8 METRIC STANDARD
;; h G4 BEAM GUARDRAIL
- | CONNECTION TO STRUCTURE
L L SAFETY SHAPE FACE
ELEVATION STEEL POSTS
NO SCALE STANDARD APPROVED FOR USE 3/1996 STANDARD
e s M617-28



schapman
For Comment



